# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills	-		ACCOUNT OF THE PARTY AND	Date	- site bi	111	-		
register	-	2320		Regi		ms	12	8 2023	
Company Name:	TOTAL SERVICE TO ANNUAL PROPERTY.	RM LLP	Andreisen, claretruss can	Site:			GIMR		
Name of Contractor		The same of the sa					AND THE PROPERTY OF THE PROPER		
Nature of work						eddy			
Work done Fro		From Date Clectoical wolk				<			
Sl. Villa/Flat/block no			The state of the s		To Date				
No.	1	Qty.	Rate		Units	Amount		Contractors	
1. A-B Block Colde	tocy	260	45/-		RFL	11700/-		bill no	
C MOCK COHOS									
3. Shifting		24	70	20/-	2'cm	16	200/-		
OIL Couthing for	lift						3-/-		
5. Pit Cof block		160	2	5/-	RFE	Uo	00/-		
Solenoid value						5,555/-			
LICENS FOR HIS ICI	DF,	7	7		ذ فيه	4900/-			
OGH BIOCK							-		
9. Booster Rimp		1	-70	00/-	Nos	70	0/-		
10. Connection of c-t						70	0/-		
	otal:					20.	100/		
Bill required	₽¥	YES INO.		GST bill require		38,100/- red VYES   NO.		NO	
Measurement & estimate sheet:		equired		1	urement d		Encl		
PO/WO no.		Not required		estimate sheet:		T - Lite		enclosed	
				PO/WO date:				chelosed	
Remarks:									
Approved by Project Ma	nage	r Appro	ved b	v Desi	on Team	Ann			
Date: W/8/	N	Date:	Approved by Design Team Date:			Appr Date:	Approved by M.D.		
Sign:		Sign:							
Notes: 1. This advice must be se	nt with	nin 7 days of con	npleting	work. 2	This form	Sign:			

for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

	IATE SHEET							
Company Name:		Modi realty mallapur LLp						
Project		Gulmohar Residency	Gulmohar Residency					
	Description:	Electrical works						
	of the Contractor	B.Tirupathi Raju						
Prepare	ed By	G.chandra kanth						
Date:		16.08.2023						
S No.	Item Head	Item Description	Quantity	Units	D.		Item Head Total	
1	Cable Tray	From A block	260.00	Rft	Rate 45.00	Amount 11700.00	Item Head Total	
						-		
2	C-block	Flats cable shifting from lift pit to electrcial room	24.00	Nos	700.00	16800.00		
3	C & F-block	Gi earthing for lift pit	160.00	rft	25.00	4000.00		
4	A,B,C,D,F,G,H-Block	Solenoid value electrical connection for sumps	7.00	Nos	700.00	4900.00		
		Electrcial Wiring from panel room to sump						
5	5 C-block	Booster pump Cable connection(6sqmm Cable)	1.00	Nos	700.00	700.00		
							38100.00	
		Amt in words:- Thirty Eight Thousand One Hundere	d rupees only					

	UREMENT SHEET		1	Τ	T	T			
ompa	ny Name:	Modi realty mallapur LLp		-		Approve	ed by:		
Project	:	Gulmohar Residency		-		Sign:	d by.		
Work I	Description:	Electrical works				Sign.			
Contra	ctor Name	B.Tirupathi Raju							
Prepare	ed By	G.chandra kanth							
Date:		16.08.2023							
S No.	Item Head	Item Description	Length	Width	Height	Nos.	O	TT '4	I II I T-40
1	Cable Tray	From A block	225.00	1.00	1.00	1.00	Quantity 225.00	Units Rft	Item Head Total
					1,00	1,00	223.00	KII	
2	C-block	Flats cable shifting from lift pit to electrcial room	1.00	1.00	1.00	24.00	24.00	Nos	
3	C & F-block	Gi earthing for lift pit	80.00	1.00	1.00	2.00	160.00	Rft	
4	A,B,C,D,F,G,H-Block	Solenoid value electrical connection for sumps	1.00	1.00	1.00	7.00	7.00	Rft	
		Electrical Wiring from panel room to sump							
		and Switch boards fitting							
5	C-block	Booster pump Cable connection(6sqmm Cable)	1.00	1.00	1.00	1.00	1.00	Nos	
	99								

#### Bill for Allowance for Equipment

#### B.Tirupathi Raju Mallapur, Hyderabad-500076.

Date: 18.08.2023

In favor of:

Modi realty mallapur LLP

Project / Site:

Gulmohar Residency

Location:

mallapur

Type of Work:

**Electrical Work** 

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Clabe tray from A-block to B-block drive	Rs.7,620/
	way ,C-block cables shifting,Solenoid value electrial	
	wiring from panel room to sump, booster pump cable	
	connection done.	
	Total Amount:- 38,100/-,	
	Work Done from date: 25.05.23 to date: 20.07.23.	

Amount in words: Seven Thousand Six hundered twenty rupees Only/-.

0:	
Sign:	
_	

#### **Bill for Allowance for Consumables**

#### B.Tirupathi Raju Mallapur,Hyderabad-500076.

Date: 18.08.2023

In favor of:

Modi realty mallapur LLP

**Project / Site:** 

Gulmohar Residency

Location:

mallapur

Type of Work:

**Electrical Work** 

**Towards:** 

Allowance for consumable

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Clabe tray from A-block to B-block drive	Rs.15,240/
	way ,C-block cables shifting,Solenoid value electrial	
	wiring from panel room to sump, booster pump cable	
	connection done.	
	Total Amount:- 38,100/	
	Work Done from date: 25.05.23 to date: 20.07.23.	

Amount in words: Fifteen Thousand Two hundered fourty rupees Only/-.

Sign:
-------

## Bill for Labour Charges

### B.Tirupathi raju Mallapur, Hyderabad-500076.

Date: 18.08.2023

In favor of:

Modi realty mallapur LLP Gulmohar Residency

Project / Site:

Location:

mallapur

Type of Work:

Electrical Work Labour Charges

Towards:

S No.	Description	Amount
1.	Brief description of work done: Towards:-Clabe tray from A-block to B-block drive way ,C-block cables shifting,Solenoid value electrial wiring from panel room to sump,booster pump cable connection done.  Total Amount:- 38,100/ Work Done from date: 25.05.23 to date: 20.07.23.	Rs.15,240/

Amount in words: Fifteen Thousand Two hundered fourty rupees Only/-.

Sign:
-------